
3.3) Differentiating inverse trigonometric functions



Worked example Your turn
Find:

𝑑

𝑑𝑥
(arcsin 𝑥)

𝑑

𝑑𝑥
(arctan 𝑥)

Find:
𝑑

𝑑𝑥
(arccos 𝑥)

−
1

1 − 𝑥2



Worked example Your turn
Find:

𝑑

𝑑𝑥
(arccos 𝑥4)

𝑑

𝑑𝑥
(arctan 2𝑥3)

Find:
𝑑

𝑑𝑥
(arcsin 𝑥2)

2𝑥

1 − 𝑥4



Worked example Your turn
Find:

𝑑

𝑑𝑥
(arcsec 3𝑥)

Find:
𝑑

𝑑𝑥
(arcsec 2𝑥)

1

𝑥 4𝑥2 − 1



Worked example Your turn

Given that 𝑦 = arctan
1+𝑥

1−𝑥
, find 

𝑑𝑦

𝑑𝑥
Given that 𝑦 = arctan

1−𝑥

1+𝑥
, find 

𝑑𝑦

𝑑𝑥

−
1

1 + 𝑥2



Worked example Your turn

Prove:

cos arctan 𝑥 =
1

1 + 𝑥2

Prove:

sin arcsec 𝑥 = 1 −
1

𝑥2

Proof


